UNAUTHORIZED USE, MANUFACTURE, OR
REPRODUCTION N WHOLE OR IN PART
1S PROHIBITED

DRAWING, DESIGN, AND DTHER
PROPERTY OF

MMC INTERNATIONAL CORP.

INWOOD, L.l

NEW YORK

DISCLOSURES

APPLICATION APPROVAL
LABEL FOR PART NO.3

»

(229MM)

YELLOW BUTTON
UP= SENSOR
FULLY STOWED

FULL STOW "YELLOW”
POP—UP BUTTON

HORN TOME
STEADY

1N OIL

POWER
| OFF / ON

PUSH

LIGHT

ULLAGE / INTERFACE
TEMPERATURE

O 4—— °C —p +88

INTRINSICALLY SAFE APPARATUS

BASEEFA - .
EExa 1B T4 @ c€
WESTIs+40C nie

BASIZATENZIE pyysy

REMGVE COVER TO BEPLACE BATTERY WITH 9V
TYPE DURACELL PROCELL MN | 604
EFRACE IN A SAFE AREA OMLY,

R HE
MMC INTERNATIONAL CORP.

D. D-2401-2

INWOOD, NY

AT QIL-WATER

SEE APPLICATION
[.S. APPROVAL LABEL
AT BOTTOM LEFT
OF THIS DRAWING

N4
Top view |\ ©
TAPE SEAL WL _

STORAGE BARREL
STOP RING
VALVE CONNECTION

REVISIONS

SYM. DESCRIPTION DATE BY APP'D.
CAUTION B REDRAWN AND UPDATED 9/97|F.S.G
TO CAD VERSION 3-02
DO NOT
CLOSE VALVE
WITH
YEL. BUTTON ’
o ) O @ 30M/100° TAPE ASSY. SHOWN
23 3/47(MB,MMS,MMB) 803MM
23 3/4 (B, BS) 603MM ‘ | ( SEE NOTE 1)
| —
et [ ~N- - — - _— _—_— _—_—
]
el OPERATING INSTRUCTIONS
5
18 (127MM)
. e o — —
\. — m| MAINTENANCE INSTR.
5 ‘REE[\/ LOCK‘
(287 it © I / -
The T2 (7
1 e \ o \&o
|| ‘ 1[40 [NAMEPLATE, REEL LOCK MYLAR [A-2562-57
@ \ 1 |39 [NAMEPLATE, MAINTENANGCE INSTRUCTIONS AL. FOIL[A-2272-9
FOR 1 |38 | RETAINING WASHER, DRUM SHAFT BRASS [B-2562-67
1 |37 |BATIERY,9V, MN1604 OR PER I.5. APPROVAL LABEL |ALKALINE]
VAPOR VALVES % L] | 5 |36 |WASHER, FLAT, NO. 8 STN.STL|
LISTED ABOVE < \ GROUNDING 1 135 [SCREW, TRUSS HD., 6—32NC x 3/8 LG.
E _ ‘ INSTRUCTIONS 1 |34 [WASHER, SPLT, LOCK NO.8 STN.STL,
¥ 1 |33 | TAPE WIPER HOUSING TO STORAGE BARREL ASS’Y B2562-50R
2 |32 [SCREW,DRIVE, NO.4 x 1/4 LG. STN.STL,
0 1 |31 |SCREW,FLT. HD 8-32NC x 7/8 LG STN.STL,
1 |30 |CABLE CLAMP, STRAIN RELIEF NYLON
@ 1 |29 |RING, RETAINING, WALDES NO.5133-25 STN.STL|A-2562-27
L [ 7]28 |[GROUNDING CABLE, COILED WITH GRD CLAMP B-2562-72
1 |27 | THUMBSCREW, LOCK ASS'Y, PLASTIC TIPPED BRASS |A-2562-27
@ . 2 |26 |SPRING BAND, TAPE RETAINER STN.STL.|A-2562-28
SPRING 1 |25 [NAMEPLATE, OPERATING INSTRUCTIONS AL. FOIL]
COADED > 1 |24 [NAMEPLATE, GROUNDING INSTRUTIONS AL. FOIL[A-2272-9
GAS / Tea| 23 |[NAMEPLATE, CAUTION & STOW, AS SHOWN AL FOIL|A-2562-74
SEAL ) 3 |22 [NUT, LOCK, ELASTIC 8—32NC STN.STL,
| 1 [ 1 [21 [GROUNDING LUG & SCREW COPPER |A-2401-65
- | 2 |20 [WASHER, CURVED SPRING, BERG NO. SU—12 STN.STL.|A-2562-66
L | 1 |19 |HANDLE ASSY SHOWN, OR ALT. MOULDED TYPE NYLON |B—2562-19
| 1 |18 |FRAME, SUPPORT, (SEE NOTES 4 &5) ALUM [B—2562-34
@ = 3 |17 [SCREW, FIL. HD 8-32NC x 1/4 LG STN.STL
@/7\1% T |16 |BEARING, DRUM SHAFT BRASS |B-2562-70
FOR — | 1 |15 [WASHER, FLAT #10 .750 O.D. x .049 THK. STN.STL]
VAPOR VALVES j— | 1 |14 [SCREW, SOC. HD. 10-32 x 3/4 LG LONG LOCK STN.STLJA-2101-15
LISTED BELOW €« mmm 13 [SENSOR FULL STOW INDICATOR ASS'Y STN.STL|B2562-50R
o ro 2 |12 [SCREW, FLT HD 8-32 x 3/4 LG STN.STL.
%vﬁ ‘\ — 1 |11 | NAMEPLATE, REWIND DIRECTION AL. FOIL|A-2378-1
./ ! J z REF| 10 |LEAF SPRING, EXTERNAL SLIDING SEAL AL. FOIL|B2562-50R
12 8" MB.MBS MMB) 308MM 2 9 |SCREW, HEX. HD. 8-32NC x 1/2 LG STN.STL.
/8 o ) NOTES: 1 | 8 [STORAGE BARREL ASSY. (PER VAPOR VALVE TYPE) [STN.STL.JD-2562-81
6" (B, BS) 152MM e 1 | 7 [RING, HUB COVER, BLACK ANODIZED ALUM _[B-2401-48
1.GAUGING TAPES ARE ALSO AVAILABLE IN["g T 5 TSCREW PAN. HD 8-32NC x 1/4° LG STNSTL]
e LENCTHS OF 37, 40, AND 50 METERS, ™" |"5|REEL BUTTON REST NYLON |A-2562-39
SEE DWG. DB-2562-1FRL, SHEET 2. T | 4 |GAUGING TAPE HEADER STOP NYLON [B-2562-79
1 | 3 |COVERPLATE,HUB, PCB & BATTY. CONN. ATTACHED |PLASTIC [B=2401-72
‘ ‘ EAEEWQLSEQTAVEE&‘BS& SCALE LENGTHS 1 | 2 |TAPE REEL ASSY, WITH BRASS TURNING KNOB ALUM _|D-2401-10
VALVE TOP ' 1 | 1 [UTI SENSOR ASS’Y, W/ANTI=STATIC GAUGING TAPE, B—2401—13A
CONNECTION  LINE o7 ST00K CoDE NuM__| Rean [pmrva — SECR;T::ER‘AL S T
f: »RM;S'LS ::)Sit(JEED TO PROD. } Q.C. UNLESS OXSEERNS\ENCS}-{PEESCMED 33 F ﬂ_ E X | |D ﬂ P 33 ggé;g;ﬁg\r‘zgz mS?HrDSEUDF;CWiEAVR?R
T —{oTHeER R ANCES N omALs  ANGLES || DRAWNG, DESIGH, AND OTHER DISOLOSURES
| e o 5 |[PORTABLE TAPE ASSY| | o o o corp.
/ — SURFAGE PN\ ULLAGE INTERFACE TEMPERATURE
BRASS METRIC IN BRACKETS DATE: RES TR‘CTED GAUG‘NG INWOOD, L.l NEW_YORK
TAPE HEADER BUMPER T bRAWN:_ [, CORRADO _[10—87| LGT'S 15—30 METER, 25—100 FT [oWe no REV.
FOR ALL "M & B", TYPE VAPOR VALVES CKD: INTRINSICALLY SAFE DEVICE
TYPE "MB” STORAGE BARREL SHOWN NEXT "> F.5.GIANNONE | 10-87 DB2562—IFRL| B
ASSY: APFD:_F.S.GIANNONE | 7—96 |scAe: 1:1 [wr. wax




